Constructed Response:

Pacific coast sea otters live in kelp beds, eating sea urchins.  In the 1800’s, sea otters were hunted for their fur until they disappeared from the area.  With their predators gone, the sea urchins multiplied and ate all the kelp.  In 1937, a small group of surviving sea otters was discovered.  With protection, their numbers grew.  The otters, once again numerous, preyed on sea urchins and the kelp beds regenerated.
· Construct a food chain using the 3 organisms from the scenario. 
· List each organism’s trophic feeding relationship (producer, primary consumer, secondary consumer).
· If the sea otter’s become extinct, what impacts would it have on the other members of the food chain? Explain and justify your answer.Explain what problems have been caused by fossil fuels.
· Name an alternative to fossils fuels
· Discuss why the alternative is a reasonable by explaining the list of “pros” generated in class.
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Environmental Science
Title:     Food Chains and Energy Transfer
Directions: In the box provided make some type of picture or concept map that demonstrates how you understand the whole chapter
Vocabulary
Word


    Definition
 
                                     (IN MY OWN WORDS)
producer
consumer
decomposer
carnivore
herbivore
omnivore
community
niche



Sentence- must show understanding OR Picture must be labeled
Corresponding Chapter in book:

5
Information from the Chapter That I found Surprising
Information from the Chapter That I already knew
a question that I still have about information in the chapter
